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. OolH E2227|
mydata <- read.csv("si_data.csv") attach(mydata) head(mydata)
2. plm TfZ[X] EX]
library(plm)## Warning: package 'plm' was built under R version 3.3.1## Loading required package: Formula

= A A 2 A~ MM
3.o—|t|5|,—|I=I|:|H_I_ EIO_I

Y <- cbind(sum_closed) X <- cbind(X0_4, X5 14, X15 19, X20 29, X30 49, X50 64, X65up) pdata <- plm.data(mydata, index=c("code", "year")) summary(Y)
4. pim= &%t =4

fixed <- pIm(Y ~ log(X), data=pdata, model="within") summary(fixed)

5. SHRATE A

phtest(random, fixed)
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